(0 @) (rad)

SICEWATL

107

1072

o p/p.)

=
<

1

2 3
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))
5

1072

1073

T IIIIIIII
—

100% 111

10

Ratl

0.95

-+

o
=
o@

N

1

—=— DQM_CKF_TTbase

—— DQM_CKF_TT_retrainOldFiles125_v2_prelimWP_epoch4

1 -3
US| +
1F------ 4444 1 4] 1 F 0 I N
Feeeeas ok N 1 U Y N 1 I A,
0.95F -+
o -
Q

1

R 14 1N ) 0 6 D 0

i+

1

: 2 3
TPlpg)T (PCA t%)obeamlin%)o

z

oo a,) (cm)

1.

=
<

A
RS E +
2 E
© o : LT
hd | R pe N g N S @ § S
o -+
F .- R - A
0.9F ¥+ Je

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


